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bsGoemo 111 Go;zbgomo agmeabo

83 bsfoemBo  [emdmeagbommo  Goibgomo  gmmegdo  Lsgodms  dmgmo  Gogo  3@mdegdgdols
2003bsGy3gBee. MATLAB 36dsbgd580L  gotis Bsgtimgo  $1s3mb0d) 005301835 ©s 36833030,
AmImgdoz ©339b6dsMgdsm gsg@z3gem Goibgom dgmmems 3mb3n(300l s@ddsls s gesbEgdsdo.
Ao 3903900 3mb3953300L AL, Fgdmgdor LfmMse Fge@boma gmemro sbsbrmo  sdm3sbols
3dbsblbgmae.  sbggg  dogmby  360d3bgmmgsbos  Fg38dmGdmm  Bggbl  dog®  3md3oyB@ols
baBgeemadoo  domgdmemo Fgegagdo Gsdegbse Lfme 3slmbls 335dmg3l sbsbymo  3Gmdmgdols
5dmbLbsTo. ®o3bgomo dgomemegdom doegdmmo dgagg9o0ls 3bsemobobs o
06963698 s00bsmzgols MATLAB-U  3dmsgdo  gésgognmo  Bgbsdmademmdgdo  gsshbos. (o303
a36Bmemgdsms  Lob@Bgdol  s3mblbs, 0bBg@3memsz0s,  Imeols  asdmomges  (curve fitting),
3eremobmdols i3gliggdol 3mgbs — gl ygggmeggg®o bBoMse ©sgdodegdse dMsgsmmo  3Gmdmgdols
adsbsgMgmse.  ©3bsMBgbo  msggéo  —  dmmobmdg®mo  sbsmobo, Gozbzomo  obBaatgds s
©09M96(300905,  B3gnmgdMozo  0ggM9b0sm G0 abBmmgds,  dsMogdol  dsdMsgmgdse
©sdms s boabsemol 337 dsggds e Ldgiosmobgdnmos, sdoBmd  aodBgze  bmasose
299(36mm  ®s  Fgbadmgdemmdsbo  gshbos MATLAB  -b 83  dodstrorgmgdon s  7x6m
s{300madoo 3gdwgy dgolegmmm, Gms 330l bago®magds 8q04369ds.

8 (o503 2306 mmgdsms Lolid)gds

36r0dg8s: LagBaebldmGm baBgseadgdo (Vehicle performance)

General Motors EV1 - 99dB O3 ™mdoma
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bn@snby bowsgm xabgcsem dn@mebols dg6 Fo@dmgdam gOm-g0m 3o6zgee  s3mdmdorls. ogo
Fo3m0396L  LogMsbbdmd@Bm  LaBgsmgdsl  gsdmbsdemendzols  gségdy.  3oMggmo  msmdols
90099 Om3mdomols g8 0339898m@s  Byz00l  s3mdnmsBmeon (lead-acid battery), &mdgmog
dgmey 03mdols dts33 3o, 1999 {mosb, 93359 6039 -39 -3o@Mo@nemads
339maB@ds. 306390 ool gemgdB@mdmdomo  330m36098L  LoRJstgls 90'12068/1’(”’
b 3godg  0smdols  gmgd@dmdmdomo  —  120-160  33/bor.  s3mdnmsgmeol  Lermmo
©38)300m30bsm30l Lagodems 8 Lssmo s dolo Loddmszey 18 - 26 soemmgsd)/lssol Fgsmaqbl.
1994 (ool 3mwogootgdagmds  gemgdf®mdmdords  Ggzmeegmo bobdsdg — 295 33/t
390530050, 3gdgao  msmdol  gemgdBdmdmdoel  gdbgds  ggmglo  dsbsbosmgdmmgdo s
306379096(300L a5F93L Lafge3bg dmdndsgy Lom@sbl3m®Bm badnsmagdqol.

3gbsgsgmo

8.1 26353030 0b@g™3Mgd)s(308

8.2 s3mblbs s M037mo 3968309000
36M6Q88o2 gegddenmo Gagools sbsgobo
sl 3365

3gbsgsemo

33 oozl ©a30fygdm  [Og03  gsbBmmgdsms  Lob@Bgdol  sdmbBLbol  gMsgognmo  dgmmeols
sogdom.  a@sg03900  a30h39698L @0 86 Ladysbmdosbo  [Ogog  gsbBmmgdsms  Lob@gdols
33blibols  odwgb0dg asb6Lbgsggdme  Fgdmbggzel. Ladbg 9B  msbmdasbo  LolBgdol  sdmblbs
asbbommos  Oeame 30390L0dGBggms  msbsgggms.  [sMdmgorgabo  [Oxoz  3sbBmemgdsms
3dmblbols  ™®  Lbgsesbbzs dgomel  dseommo  m3g@siogdol  Ledgemgdom.  dmemels
asbg0bogmsgm  dsgemools —  gmgdd@mmo  (eOgeols  sbsgmobo, Lswsy  gedmgoggbgde 303
3368 mmgdsms Loliggdols sdmbLbol asbbogmm dgommegdls.

8.1 263030 0b@BgM3egB)8(309

3 lgdmdl FOx03 gsbBmmgdsms sdmblbol dMsgsemo dgmmeo, dsa®sd momddols gggems dsmgsbo
dombmgl  IGsgamo  m3gMsool  asbbm®zogmgdsl,  GmIgmms  Bgbanmadolsl  segome
dgodmgds 8393350  Fg3emds.  dsm  sdmLeblbgmse  dsenby  dmbg@dbgdeos  3md3oydg®ols
309cgqbgds.  3s3M33 3o Mbes  a39bdmeEgl  sdmblbols  dmgmo  3Gmiglo, G™d  Lfmese
d93003006mm  smamGondo  ©s  dogopmn  LFmco  Bgogao.  3Goglol  gedgee  gslsggdse
©s30Fgmo (6503 asb@mmgdsms Loliggdols sdmbLbol a@sgoszmmo 0bBg@3egds(3000.

FO5030 363 mmgds ™G0 7ibmdon Gmameopss 2X—Y =3 Fsedmswgbl §Hxql ©s bBomse
sbgmo geddoon [gogb: Y =MX+D, bepsg m §Hgol msbdses s b -y 9Adol goeszggmols
Toodomo. o 33943l 2 (Ox030 363 mmgds, a3sd3b o0 (Oxgg, Gedmgdo 6 goo
ocmdo 0339098, o 009356 08 S 0MOES0A0 56IMS .
9OBomdo 043900, b gOM0YON3sBmgrgos b ghmogsogogy [Opgl Feddmsragbl
Lsdogg gdmbggzs bsBagbgdos bsb 8.1, asbBmemgdgdls, Gmdmagdai MOm0gGmassdzzgm §Haggdl
3832 b,  Sl0ms 53m20(36md  0dom, ™3 doom 36Bas20d Mo sbds  odro.
Q3J Q3O 320M30(3 4 3930000 Q 3
dsgomomsE: Y =2X—3 s Y=—-X+3. g3s6mmgdgdls, GmImgdo o6 O00gM03sMsmgmn®
FOxgl Gomdmagbl sd3m 9@mbsoto sbMs dsg@sd asblbgsggdamo Y 0g@dmsb gswszzgmols
G Boo: y=2x-3 s Y =2X+1. asbBmmqdqdl, GmImado G o0Es0ds a9l
I0Bow @ 3300969 mgdoy  gOmorsadszy  §Og)
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Fo63msgbls sz gPmbsodo sbMs ©s Y Qaﬁ)deG 333833900l gomoesogozg oo omo:
y=2X-3 s 3y=6X-9.

R/\é _
. L

{a} Ao ghmaamadjzgmo Fogggdo {0} 3athagngErytio Fegggdo

e

L~

{c} nmabigmo Fagggdo

6ob 81. ™o Q)

oy 3bBmmagds  Igoegb  Led  (33emeel, X, Y, Z, 3sdob ol omdmsagbl  Lodddygl
bodgs6Bmdagmgdosh  Log@igdo. o) 3353t @G0 asbBmmgds Lsdo 36mdom  olobo Bgodemgds
Fo3msg9begl ™6 Lodd@ggl, GmImgdos 03390988 [OR9bg, @@ 3s@segem® LodGddggls, o6
o6 9emopsogozy  Lodddygl. gl Bgbmbggzgdo  bshzgbgdos bsb  8.2-By. o g3sd3l Lsdo
2303 memgds bsdo (33mms@om, 35806 gl Lsdo Lodd@dgg Bgodemgds 0339090megl 9om Faddoedo,
bad 3eGemgeon® (O539bg, o6 3s@smgma® [Oxggby o8 gho [Oggby. dgodmagds s@lse o6
0339090000696,  0g3bgb  YOMogOM3sMsmgmdo,  sbs  Lsdogg  ghmopsogozg  Lodddggl
FoOdmoaqgbrgl. (6sb 8.3, 6sb 8.4).
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by gemmmds  Fgodemgds  asbzs3(3mm  badbg dgdo  (33emsols Fgd339ee  3bBmeEgdsty, dsa@sd
dbgemos  dsmmgols  Fgldsdobo  gobysmobszool  asbbm®zogmgds.  Faddomoms  gOmmdmomdst,
Amdgemoy asbobsbma@gds Lsdbg dgdo (33ememols 3Jmby FOx0z0 gedmmgdon  303g@lodedygl
390 megdo.  Lobmgseme  dgazodmos  gsbzobommo M (@Ogog  asbmmgdsms  Lolggds N
(3300, Lss(y mommgnmo asbBmmgds 3sbbsbma®sgl 396dm 303g@bodddygl, G™Igmoa &0
Lolggdols  séigdmo  bbgs  30390LodOBgol  oagbBn@o @  s@ol. o M < N, lolgads
330 bmgAgmos s 36 3ebgomdl dolo sdmbLBs. o) M = N, Tob@Bgdsl szl goHmnseg@mo
33blbs 0d Fgdmbzg3980, o7 Lob@Bgds o6 Tgo(3e3L 3sGmmamn@  303960LodG@Bgg9ol. o M >
N, Lol@ggds (overspecified) s sl o6 543 gONs@gOm0 33mblbs. asbBmmgdsms LoliBgdsl,
Am3geobsy asshbos gOmeEgMmo sdmblbs, s@sbobynmas@nmo gfmegds, bomm o @ gsshbos

— Lobggmastrnmo (356Ls 390 90mmo).
bdodse 3330megds 3sb3Lsbegemmn szl o s gsbBmmgdsms LobBgdsls sdmbsblbo. dgdegy

606&0)(30@360’30 asbgobomsgm MATLAB hoaﬂoggbom 503 aoa(ibmgmabomo Lobd)gdols
3dmblbols @ Lbgssbbgs bgobl.

P N

& =

(@) mdmodmpemad jggon Lodddygido (b} dathopm grmgda Ledédyggde

¥

I X

(c) omgbFmin Lodddygndo

bob 8.2. ™o 1506(4)({3)33
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T &

: X

900 (96 0mdo msbsdsggmo Lsdo 1’066@)83 bsd Loddgggl geshbos msbs3ggmols 3
Ssésrgergho fog)

bsd Loddrdggl goshbos msbs3ggmols 2 3sGrsmgem@o [agg

bob 8.3.  Lusdo 1)066)(5533
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1%

bsd Loderdggl gsshbos msbs3ggmols 1 Rl

y /

bado 3sesemgm@o Lbodddyg

6ob 8.4. Lsdo Lodddyy (asa®dgemads)

8.2  s3mblL6s dsMo3nmo m39Ms309600

asbgoboemm aoﬁ@mga&)mo 1508';_'](360)60060 Lobid)gds:

3IX+2y—-z=1
- X+3y+2z=5
X—y—z=-1

Lobi@gds '83630657\'0& hagfgOmm 80(?)5)0(336015 Bo'a':jogf\na&om:
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oy a530blgbgdm  dsBEo3gdol  gsddegemgdols Fabl, asbBmemagdsms gl Lob@gds sbg dgagodemos
Rog(gemm: Bgoliernmago dsBtozgdol asesddsgmadols m3g@sas, MM ©sddnbogm sdsdo.

A3 (330090l bbgeslbgzs sbmmo 3036036530, Lolgdols Rsfgds demrqbg@bgdgmos, sdogmd
3m3b0dbmo  (33msgdo  ghmoEsogngy sbmmo, asblbgsggdmmo obegfbom: X, Xz, X3 s s G
dogoegdm sbgmo Lsbol Lold)gdsls:

3X, +2X, =Xy =1
— X, +3X, +2X; =5
X, — X, — Xy =—1

9 Lolggds dsBdopgmaee sby Rsoffg®agds: AX=B, basy X o600l bggdo 39d¢meo
[Xl Xy X ]T
d9330dem0s Lob@Bgds ds@BGogmse bbgs gm®domsy hsgfgeme: XA=B, Lswss:

3 -1 1
X=[x % x] A=|2 3 —1| B=[10 5 -1]
-1 2 -1

290353M83mgm  doMogdo s sddnboon  Jbxgmmdol  Lobfm®gdo. (8936036530, ™3
BB Gois A 83 Lolg)gdsdo Lafgobo Loliggdol A ds@Beoiol EEsbl3mbomgdmemoas).

sbms  asbzobommon N 936mdosh N asbmmgdsms boliggdols s3mblbol oo bg@bo. ondis
MATLAB-380 F9bsdmgdgmos 3sbnboggmo Lolggdol sdmbLbss, Lawsz dgogao Fomdmsrgqbls
99306090 339005 mem  sdmbsbLEL (list square solution) s of & asb30bomszm. 393900,
603 3353 N 363 mgds N q3bmdoon.

8.2.1 dsBHG0(3900L gogmaezs

MATLAB 8o {03 as6@memadsms boliggds dgagodmmos s3cmgblbso  ds@®ogdol  asgmezoom.
AX=B lLol$gdol s3mblbs beord(30gmmmgds o tozndol  dstrzbgbs gogmzgom: X=A\B; XA=B
Lob@Bgdol  s3mblbs  asdmomzmagds  dsBGo3gdols  dstrig3gby  asgmgom: X=B/A. (MATLAB
3s860(3900L  3ogmgobsmzol 099690l gaqlols asdmdorsbzol(elimination) obzom dgmemwelb).

3535003, $3m3bLbsm  asbBmmgdsms bgdmbligbgdnmo Lolggds. MATLAB Ls3qsmagdon sl
336G (309mgds:

A= [3327_1; _133,2; 1,_15_1];
B=[10.5-1];
X =A\B;

30dB™®0 X 3Bgozeglb bowowggdl: -2, 5, -6. dgagodmos 3933mfdmm  s3cmblbs, 35333¢133ememm
A*X. 9390 dogomgdn b3gd) 39dEm®L gemgdqb@géom: 10,5,-1.
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03039  bobggds 833306@0& 3dmgblbse  dsgGo(3memo 3‘55@0);:)3600) XA = B d9dga0
36rdsbgdgdoon:

A=13,-1,1;2,3,-1; -1,2,-1];
B = [10957'1]9
X =B/A;

X 39ddme0  Bgoegl =2, 5, -6. Tg3edmfdme  s3mbsblbo  as353Gs3mme X 39ddmeo A
39JB0Obg: X*A 3oz00900 bgtodmb 39d8meL, Gmdgmo dqozegl 10, 5, -1

o) 3omemgdems  Loliggds  Lobamemstrnmos, MATLAB 803300m0090L  3g30m3sbg.  s3mbsblibo
39JB™®0 Bgodemgds Fgozezegl 3603369emmdqgdls — NAN , +oc 86 -oc. slggg Bglsdemgdgemos
Lolggds  Fgoiegeal  olgo  asb@mmgdgdl, Gmdgmms  Jgbsdsdolo 30396 LodG@Bggdo  dsgmash
3bembss 9O0dsbgmmsb b dogosh d30Mge 3sbbb3gsza0s dsMsemgm@obsgsh. slgom Lol@gdgdl

ill-conditioned Lob@)gdsl «{megdgb. MATLAB gs3momgemols s3mblbsl, 3536193 dogzomomgdls,
A3 dggao ds0b(308ds0b(3 Lsbom 6 séob.

8.2.2 ds8®030L  3gd6rbgdnemo

236Bmmgdsms  aligds dgodmgds  sdmoblbsl  dsBeozgdol  dgdcrmbgdols dgmmeon. dsgsmomse,
837 3350m:

32 -1 X 10
A=|-1 3 2 X=ly B=|5
1 -1 -1 z -1

33306 AX =B. ©s373350 Boammdol meogzgg dbseg 3s8353G83mmm Al R
A'AX =A'B
353050 Ma3b5(3 A'A Bomos ghmgnmmgsbo ds@doiel - 1, 33969ds:

IX =A'B b X = A'B
MATLAB —%o gL sly ‘836306520‘) 333m3033eMm;

X = inv(A)*B
o993 gl Fgommeo 3sbLbgszads dsBMogmo dsdrbgbs asgmagols Igmemeobsgsb, dsg™sd 003y

F9093  0dmmgzs  olbgmo  LolBgdgdolsmgol, Gmdmgdai o6 smol  ill conditioned (ciabo
o0ycnoneHHas MaTpHLa) bl 3s6306Hmdgdnmo.

03039 Lobggds sbggg s3moblbgds  dsB@ozgdol  dgdermbgdol  dgmmeom, o+ ogo  BsFgoemas
%m®dom XA=B bagos(s
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-1 1
X=[x x x] A=|2 3 -1| B=[l0 5 —1]
-1 2 -1
Bormdols me0gg Ibsdyg 335908300 Al s
XA'A=BA™

353683 M0a5b5(3 A'A Boramos ghmgnmmgsbo ds@doiol - 1, 3394690s:

Xl = BA™ b X = BA™
MATLAB —3o gL sly ‘836306520‘) 333M3033eMm;

X = B*Inv(A)
gcseegds dosdi0gm, Gm@s 83 dgomel oggbgdm, G™A Bogml} bgeogdmbo ggddmdo.

Bsgstrxodm

3dmblgboo  (Geg03 Béﬁémgabomo Lobgds 8&(?)5)0(336015 asgmazol s 80(3)14)003601)
F90rmbgdemols  dgomeom.  MATLAB  Lsdpemgdon  3gedm(fdy  domgdmmo  s3mbsblibo
3&@5)0(336013 &58&03@360]} Ba'a*ao(j\naéom. mﬁ)‘agﬁmbooG &56@)(*)@3&)0)0 LobBgdolbsmgal  ssgqgm
330Bmmgdsms  dglsdsdolo  3Msg039d0  gOmoEsndsgg  bsbsblg, o0dobsmgol, G™d  yhgzgbmm
29033390, 07 bolBgdsl o6 593k 39Odm(unique) s3cmblbs h396509l aGsg0 M.

. _—2m+x2:—ﬂ
X +X, = 3
N _—2x1+x2:—3}
| =2X +X, = 1
; [—2%, +X, = —3}
| — 6%, +3X, =-9
A [—2%X, +X, = —3}
| —2X, + X, =-3.00001
3%, +2X, - X, = 10
S0 | =X 43X, +2X%, = 5
X X = Xy =1
[ 3%, +2%, — X, =1
6. | —X +3X,+2X, =1
L X = X = X =1
[10%, = 7%, +0x; = 7
7. | =3X% +2X, +6X, = 4
| 5X + X, +5% =6
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X, +4X, =X, + X, = 2
2%, +7X, + X, —2X, = 16
X, +4X, =X, +2X, = 1
3%, —10x, —2X; +5x, =-15

/ 36013 gds: gegddernmo Gegeol sbsgmabo
9addOgmo GOgool Lobdodymo sbsgmobolsmgols Lsgodms sdmoblbsl ooz asbBmengdsms
Lob@gds. gb 606&@Q36860 800Q36o gﬁ)agaboh 09600036 s sbsbaggb [Ogodo ©gbols ©s

dsdgol  bobosobs s gebsffoemgdsls.  dsgsmmoms  gsbgobommo  bsb 8.5—%8 bsh396900
929d B0 Lgds.

R, R, R,

6ob 8.5. FOg00 dsdz0l w60 ysermmo

dgodegds  Fg300306mm  Lsdo  gsbBmemgds,  Gmdmgdoz  s@fgel  dsdgel  bad  Lbgsslbgs
36y m@do:

-V, +Rji, +R,(i,—-i,) =0
Ry(i, —i)) +Ryi, +R,(,—-i;) =0
R,(i, —i,) +Rgi, + vV, 0

o) 339339000, A3 [obsomdgdo (R1, Rz, R3, Ry, Rs ) s dsdgzgdo V1, V2) (36mdoemos, 83
Lolid)gdsdo 33946988 bsdo «q36mda (I, iy, 13). bolig)gds dgagzodemos Rsgfadme Fgdmgaon gmedoon:

(R, + R, -R,i, + 0, =V,
- R,i, (R, +R; +R))I, -R,i, =0
+ 0, R,i, (R, +R)I;, =-V,

(9690 3Oma@sds MATLAB-%o, Gmdgeoig Lodymemgdsl dmag3dL  dg308)sb6mm  dmbs3gdgdo
06303730y s ds olsmao S 3030M0M” 0 s83dobo dbo ™dd0.
bsmmdgdols s dsdggdolsmgol s dogom ©gbols dglsdsdolio 360d3bgemdgd

1. 3dm(360L  ©slids
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%’oﬁonba&ﬂs s dobga&oh (35(*)60(}\0 860'3863Qm6¢m¢ ho'B'zjogf\nZ]ESom 303mgmo  ©gbols
3603369mmmbgdo  gemgddmm [Ogedo, Gmdmols bgdsy bshggbgdos busb. 8.4.

2. INPUT/OUTPUT spffgs

6o 8.6 o303l ©0sgMsdsl, Lowsz bsh396gd0s B3 g39d3l dsdz0l 2 @s (obswmdols 5
3603369emmbs,  AmIgemms  Ladmsemgdon  [Ogog  gebBmmgdsms  Lsdysbmdasbo  Lolbgdols
baggndggembg mbes dogzommo ©gbol dsemol 3 360Td36gmmds:

Ry, Ry R3, Ry Rs Ly i
— 1
ViV —® — ™ i

6sb 8.6. Input-Output ©osgsds

o303 aaS@mQabomo LobBgdsl sbgmo Lsbg ajﬁabot
2i1 — i2 + Oi3 =5
-1, +3i, -i; =0

+0i, -l, +2i;, =-5

a0dmzoggbmo MATLAB as6@)mmgdsms 3 Lolggdol sdmleblibgmsc:

A=1]2, -1, 0; -1, 3, -1; 0, -1, 2];
B =[5, 0, -5]";

X = A\B

err = sum(A*X-B)

dogomagdo 3603369emmdgdls;

X = bsdo  3s@rsemgmrg@o 15065)(533

2.5000
0
-2.5000

a5y 330bs,  dogomgdm A*X-B booegms %30l 36033690mmbsls, Gmdgmoz bpmol  Bmemo
gbs ogmls, o7 Loliggds seslobanms@rnmos. dstmems; MATLAB dmgg39dL:

err =

0
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3. MATLAB s3mbl6s

36036835 olg 7bs Fg350306mm, O™ 81ds6gdems by s@sdo  saligel Jombgs, GmIgemacs
dcg30begl  Igz08)sbmo  dsdggdols s Fobsmmdgdol  360dzbgmmmdbgda.  gu@smgds  dogsiomm
33JBL, O0d oy I/ 3990309969000, Oam®3 ©gbols dsgmol  s@bodgzbsl, 0go 3833l Mmegols
MATLAB-olgne 3608369em0dsl 0 + 1.00001 .

% This program reads resistor and voltage values
% and then comlutes the corresponding mesh
% currents for a specified electrical circuit
R = input("Enter resistor values in ohms, [R1...R5]%);
V = 1nput("Enter voltage values in volts, [V1 V2]7);
%
% Initialize matrix A and vector B using AX = B form.
A = [R(D+R(2), -R(2), 0;
-R(2), R(@)+R(3)*+R(4), -R(4);
0, -R(4)., R(4)+R(5) 1;
B = [V(1):
0 ;
-V(2)1:
%
fprintf(*Mesh Currents \n*)
1 = A\B

4. 3997350,
o dogsfmegdn dgdega 3603369emdgoL:

Enter resistor values in ohms, [R1...R5] [1 1 1 1 1]
Enter voltage values in volts, [V1 V2] [5 5]

36036835 dggase dogg3gdl:
Mesh Currents

i =

2.5000

0
-2.5000

3983m{dgom BOQZ]ZS‘Z]QO dg930 A&)@)F}OOOB 60Q03ﬁ¢3@360mi 39J&meaby.
sls3abs
9L m30 s30( g9 §OR03 3bBmemadsms Lolgdols adsgognmo 0bBg@3Ggds300m. gohggbgm

bbgoslbgs  d9dmbggzs, OmIgembsig  Fgodmgds  seaomo  3Jmbegl  FOgog  3sbBmemagdsms
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om0yl asblbgeggdnem  303g0Lodedgggdls. asbgobomagm (Ox03 asbEmmgdsms Lob@Egdols
33blibols m@o dgmmeo, GmIgmoi IsEOonm M3g@s3098l 9yEbmds.

\ 8‘5(?)(4’083601’ dse(3bgbs gogmaezs
/ s M03900L s 39bs asgmazs
8der(306900

1-3 36demgds 7393000pgds 33 08380 asbboenmem 3333690, b 4 — 8 ©s 39380658 mmos
bbgs 89(336900036.

3@3&@6‘3&0 V&)ng. 9L oamoaﬁabo Qodo’g?ﬂoﬁ)abg@oo 3dmsgdo  gebbogmmen 333565006
99O gmo (Ogeol sbsgmobols dglsebyd.

L 3gazomg  3Oma@sds  olg, Gm3  o0go  dmoobmgegl  Fobsmmdols  3603369mmdgdls
30em3gdd0, Fgbsdsdolse Fg(339tmg 3GMa@sdols sbs®Rgbo bsformags.

2. Bg339mg  3Omacsds  oby, Gmd  dsd3z0l  mMozg  [getml  gPmowsogngg  360336g0mmds
3Jmbrgl gmggemmgols.

3. 3399 3G0ma®sds olyg, G0 dsdzol mE03g (gstml 360836gmmmds ogml S geaemdo,
9909y Bsogemge, A3  (obsomdsms  360d3bgmmdgdo  gemdsbgmols  Bmeos.
asdmomgsmgn  ©gbol 3603369mmdgdo  (obspmdsmsmzgol: 100, 200, 300, . . . , 1000

™do.

gmgddeamo  Fogro dsdzol ghmo  Fygstmmo. Imigdnmos  gegddgmo  Fegeo  dsdzols
9600 Gysermmo s 5 VOﬁanbom.

4, 33536 396 mmgdsms LobBgds sbgmo FOgoolbsmgol, GmImol bdgds dmigdnmos bsb
8.7. 9o 36ma®sds, G@Igmoi  asdmomgmols ©qbols 3603369emmdgdls B3gbls doge
dofmegdgmo [obsmmdgdol ©s dsdgzgdols d6093bgemmdsmsmgols:

-V +R, (i, —1,) +R, (i, —i;) =0
Rii, +R, (i, —i) +Ry(i,—i)) =0
Ry(i,—i,)  +Rji,  +R,(i,—i) =0
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bob 8.7. 99O gmo Gogeo dsdgzol ghmo Fysemmo

5. Fgizomg 4 sde3ebols 3Oma@sds olg, G 36 Esdgdemb Hgoz asbBmemagdsos
dor3997mo Loliggdol 3mgigo0gb@gdo s dqodoggdo

2368 mmagdsms LobBgds. ©s3ndzsm a3943b dmbszgdms gsamo eqns.dat, Gmdgeoi Fgoczegls
FOx503  abBmmgdsms  Lolggdol  3mgx0(30963)90L.  mommgnmo  Lg@ogmbo  Bgozegl
309580(0963)90bs s dqedagl  gomo  gsbBmegdolsmgal.  dmbszgdms  gsoemo  Fgo(3e3L
336@Bmgdsls N 36mdolsmgol.

6. {99 3Omgsds, O@Igmoi 3onbrmmdl gsoml eqns.dat, gsblsbmzmsegl bmd o6
s60b Loliggdsdo dstrsmgmn®o 30390LoddBgggdo. ( 99386369000, OM3 e JsGrsmgmrn®
303960103639l 843l gPmbsoto  3mgBo30968)gd0, Bsa®ed  3sblibgsggdamo  dmwdoggdo.)
©s69dego  dmbs(39d980, Gmdmagdog Fgglsdsdgds 3s@sgmgem® 30390 Lod@ B gggdl.

7. @s(gfg0 360a6sds, Omdgmoaig gonbammdl  ggsoemls eqns.dat, 230LsBgMsgl bmd @
360l Loliggdsdo gPmoaesngozy (Bmemo) o3gdlodddgggdo. (3gasbabgdm, G@I e Bme
30390L0dedggl o3l gPmbsodo  3maxoogbdgdo s dnedoggdo, 86 doomgdash
960336gmaligsh  FOx030  3sesdbol  Fgmgase). ©sdgdegm  dmbssgdgdo,  Gedmagdogs
d99b5653905 0©96B G 30350 L0dEB)gggdls.

8. 35890003690 ™G0 [obs 33m(360L 3063 s dgFEgm Iberme  asblbgzszgd Mmoo ©s
361835M3egmrgo 30396 L0dAB)gg9d0ls gbsdsdolo dmbsczgdgdo.

8dcmblbs  doBdozol  gddmbgdmols  dgmmeon. ols@zgdmgo  dsBGoiols  Focbgdmmon,
A3 3dnblbso [Ogog asbBmmgdsms dgdwagan Lolidgds. Rsfamgo Lolpgds meagy gm®don:
A*X=B, X*A=B, 9gspstgn cmtoz) 85806393590 domgdnmo Bgogagdo.

9. xty+tz+t=4
2x—y+t=2
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10.

11.

12.

3x+y-z-t=2
Xx—2y-3z+t=-3
2x+3y+z+t=1
Xx—-y—z+t=1
3x+y+z+2t=0
-xtz-t=-2
X-2y+tz+t=3
xtz=t

2y-z=t
x+4y+2z-t=1
x+2y+tw=0
3x+y+4t+2w =3
2x-3y-z+5w =1
X +2z +2w=-1
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‘3(‘)070360)30;3&36330)0 303861505(4)&83380. monmggmo dmigdgmo Faddomobsmgols dg4dgboo

76503 a6 mmgdsms meo asblbgzsgzgdgmo LobBgds, GmImgdo aesn3zgmgds dezgdnem

T 96odomdo.

13.
14.
15.

13, -5, 7]
[0, -2, 1.5, 5]
[, 2, 3, 2, -1]



